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MetoanuHi BKa31BKU MICTSITh TEKCTA KOHTPOJILHOT poOOTH 3 111
CTYACHTIB 2 KypCy €KOHOMIYHHMX CIIEIiaJbHOCTEH 3a049HOI (popmu
HABYaHHS 1 peKOMEHAIIIi 10 11 BUKOHAHHS.

Mera MeETOOWYHUX BKa3iBOK — JOMOMOITH CTyJACHTaM Yy
CaMOCTIHHIM poOOTI HaJl PO3BUTKOM MPAKTUYHUX HABUYOK YUTAHHS Ta
nepexyiay 3 aHrjaiicbkoi MOBHM 1 JITEpAaTypu 31 CHEHIATbHOCTI,
PO3IMIMPUTA Ta TMOTJIUOMTH HAOyTI HUMM 3HAHHS 3 JIGKCUKHA 1
rpaMaTUKU aHTJIiHCHKOT MOBH.

KontponpHa poboTa 3 € JOTIYHHM IPOJIOBKECHHIM IOMIEPETHIX
KOHTPOJILHUX poOIT 1 Ta 2, siki BUKOHYBAJIUCS Ha MEPIIOMY Kypci.

MeTroanuni pekoMeHallli BHU3HAYaIOTh MOPSAOK BUKOHAHHS
KOHTPOJIbHOI pOOOTH, a TpaMaTHYHUN KOMEHTAp IOJA€ TOSICHEHHS
1[0/I0 TUX TPaMaTUYHMX SIBUI Ta KOHCTPYKI[IM aHTIIIMCBbKOT MOBH, fIK1
BKJIIOUCHO J0 KOHTPOJIBHOI POOOTH 1 3HAHHS SKWX HEOOXIJHE s 1i
YCHINTHOTO BUKOHAHHS.

[Topsiiok BUKOHAHHS KOHTPOJIbHOT POOOTH

KontponbHa poOOTa BUKOHYETHCS B OKPEMOMY 3O0IIUTI, Ha
OOKJIaIMHII SKOTO Tpeba BKa3aTh Ha3By HABUYAJIbHOIO 3aKjiauy,
kadepu, TUCUUIUIIHA, HOMEP KOHTPOJIbHOT pOOOTH, MPI3BHUIIIC Ta 1M 5
CTYJICHTa, a TAKOX MOro mudp Ta CreniaibHICTh.

KonTposnbHa poOoTa Ma€e 11’ siTh BapiaHTIB, sIKi BU3HAYAIOTHCS 32
OCTaHHBOIO IUPPOIO CTYAECHTCHKOrO MUPY:

1, 2 — BapianrT 1;
3,4 - BapiaHr 2;
5, 6 — BapiaHT 3;
7, 8 — BapiaHT 4;
9, 0 - BapiaHT 5.

[Ipy BUKOHaHH1 KOHTPOJIBHOI pOOOTH CII1J] JOTPUMYBATHUCH
MOJAHOTO MOPAJIKY 3aB/laHb. TeKCT nepekiaay Tpeda mucaTtu Ha
CTOPIHII HAITPOTH TEKCTY aHTJIIMCHKOI MOBOIO.

[Ticyist mepeBipky, AKIIO € HOMUIKH,BUKOHYETHCA pOOOTa HAT
MMOMUJIKaMH, 1 BUTIPABJIEHHS 3aMMCYIOTHCS B KIHIII 301LHUTA.
KoHTposbHI poOOTH OBUHHI MOJJABATUCh BYACHO, Y TEPMIH,
BU3HAYCHUN HaBYAJILHUM TIJIAHOM.

Pexomenoosana nimepamypa
1 AngpuanoBa JI.H. AHIMUCKHHN SI3BIK JJI1 3a0YHBIX TEXHUUYECKUX

BY30B. — M., 1988.
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I pamamuuni memu
[TacuBnuit cran (The Passive Voice) Bumo-yacoBux GHopm
Indefinite, Continuous, Perfect (3akpinieHHs);
MopanbHi aiecinoBa (Modal Verbs);
KoHctpykiiii 3 alenpukMeTHUKOM. HezanexHuil T1enpruKMETHUKOBUM
3BopoT (Absolute Participle Construction);
dyHKIIii aiechis to be, to have, to do;
bescnonmyyHrukoBe MAPS/HKEHHS B O3HAYalbHUX, JOJATKOBHX Ta
YMOBHHUX HIAPSIHUX PEUCHHSIX;
I'pyna o3nauens (Attributive Group).

Cmucauii pamamuynuil Komenmap

[ OCOBJIMBOCTI IIEPEKJIAY AICCIIIB Y ITACUBHOMY
CTAHI

Passive Voice

Indefinite Continuous Perfect
Present I am asked I am being asked I have been asked
He is asked He is being asked | He has been
You are asked | You are being asked
asked You have been
asked
Past I was asked I was being asked | I had been asked
You were You were being
asked asked
Future I shall be asked I shall have been
He will be asked
asked He will have been




asked

[TacuBHMM CTaH MOKE€ MEPEKIANATUCS HA YKPaiHCbKY MOBY
JNIEKJIBKOMA CIIOCOOaMU:
1) Radio was first discovered in 1895 by A.S.Popov.
Panio 6yno Brepie Bunaitneno B 1895 pomi O.C. [TonoBum.
2) A device for measuring pressure is called manometer.
[Ipunan nys BUMIpIOBaHHS TUCKY Ha3UBA€ThCSI MAHOMETD.
3) Foreign scientists were shown a new device.
3apyOiKHUM BUCHUM MOKa3aJal HOBUU MpHUIIAI.
4) It is expected that the conference will take place next summer.
O4ikyt0Th, 1110 KOH(EpeHIlis B1IOYyACTHCSA HACTYITHOTO JIiTa.

II MOJIAJIBHI JI€ECJIIOBA (Modal Verbs)

Tpu MoganbHiI [di€ciioBa BBaXKAalOThCSI B aHIIHCBHKIA MOBI
OCHOBHUMH, BOHHU CKJIAJAIOTh AP0 TPYNHU MOJAIBHUX JIECTIB: can,
may, must. JIjsi BUpaXKEHHS PI3HUX BIATIHKIB HEOOX1THOCTI
BUKOHAHHS  Jii, JUIi BUPXKEHHS BOJI, OaXaHHs, HaMipy
BUKOPUCTOBYIOTHCA TaKOX MOJaibHI AiecioBa should, ought to,
need, will, would.

HiecnoBa should, ought to maitxe He PI3HATHCSA 32 3HAYCHHSIM.
Koxxne 3 Hux wmae jume oaHy ¢GopMy 1  BUpPaKe MOpaIbHUIN
000B’ 130K, TTOpaay, PEKOMEH/IALIIIO.

He ought to have waited for you.
oMy ciiz 6ys10 modeKkaTH Ha Bac.

You should have sent her to Academy.
Bawm caix Oyio mocnatu ii 10 akagemii.

MopanwsHi niecnoBa will, would BXuBarOThCA Uil BUPAKCHHS
BOJI1, OKaHHS, HAMIPY.
We will help you.

Mu 1onomMoxkeMo BaM (3 0XOTOI0).
1 said that we would help you.
A ckazaB, 1110 MU (0X0Y€) JOMTOMOYKEMO BaM.



VY nutanbHux peueHHsX will, would B)xuBarOThCs y JIpyriid oco0di
JUTSL BUPAKEHHS BBIWJIMBOTO MPOXAHHS, 3aIlpoIleHHs, Tpuuomy would
HaJla€ MPOXaHHIO OCOOJIMBO BBIWIMBOIO BIJTIHKY.

Would you help me?
JlormoMoiTh MEH1, OyJIb JIacKa.

Sk MonanbHe, aieciioBo need BUpakae HEOOX1THICTh BUKOHAHHS
i1 1 BYKUBAETHCS Y MUTAIBHUX 1 3aMIE€PEUHUX PECUCHHSX.

You need not trouble about that at all.
Bam 30BciM He Tpeba TypOyBaTHCS MPO IIE.

III KOHCTPYKLII 3 JIETTPUKMETHUKOM

Compound Forms of Present Participle (Cxnagai hpopmu
JTIENMPUKMETHUKA A1IMCHOTO Yacy)

Present Participle moxe MaTu TpOCTI (asking) Ta CKIaJHI
bopmu (being asked, having asked, having been asked).
Past Participle mae numie npocty dopmy (asked)

PRESENT PARTICIPLE

ACTIVE PASSIVE

His , BUpakeHa J1ENPUKMETHUKOM, B1JIOYBa€ThCS
OJIHOYACHO 3 JI€I0, 1[0 BUPAKEHA MIPUCYJIKOM

Indefinite | giving being asked
The professor giving a The student being asked
lecture showed many by the teacher gave an
diagrams. - Buknanauy, mo | excellent answer. —
YUTaB JIEKIIIIO, CryneHT, sKoMy BUKJIaga4
IPOJIEMOHCTPYBaB 0araTto | MOCTABMB 3alUTAHHS, JaB
miarpam (giving - OJIMCKY4Yy BIJMOBIIb
O3HAYCHHS) (being asked — o3HauEHH )




Giving a lecture the Being asked the student
professor showed many didn’t know what to say. —
diagrams. — Yutarouu Kouu cTyneHTa 3anurainy,
JICKIIF0, BUKJIagaq BiH HE 3HaB, 1110
POJEMOHCTPYBaB Oarato | BiamoBicTH. (being asked
miarpam (giving - - o0cTaBMHA)
00CcTaBHHA)

Perfect Jis1, BUpaXkeHa J1EMPUKMETHUKOM, BiAOyBasIacs paHilil,
HDK JTis1, BUPAXXE€HA MPUCYAKOM
Having given Having been asked

Having given a lecture, the | Having been asked a lot
professor answered a lot of | of questions, the lecturer

questions. — IIpounTan decided to give an
JEKI[110, BUKJIa1a4u explanation. — icns
BIJIMIOBIB Ha O6arato TOr0, K JEKTOPY
3aMuTaHb. OCTaBUJIU OaraTo

(= micig Toro, SIK BUKJIaJay | 3alUTaHb, BIH BUPIIIUB
MPOYUTAB JICKIIIO ...) MOSICHUTH.

JIIeENpUKMETHUKOBI 3BOPOTH B AHTIIIMCBHKIM MOB1 MOJIIISIOTHCS
Ha Bl TIpynu: 3alexHl Ta He3anmexHi. Jlo  3amexHux
TIEMPUKMETHUKOBUX  3BOPOTIB  HajJeXaTh  JIENPUKMETHUKU 13
3aJIE)KHUMH CIIOBaMHM, $IKI BUCTYMNalOTh Yy (YHKIT O3HAYEHHs abo
00CTaBUHM.

Having obtained a loan, the firm ... - OTpuMaBIIM TO3UKY, dipMa ...
Being used in this way, money ... - SIK110 TpolIl BUKOPUCTOBYIOTh
TaKUM YMHOM, BOHH ...

Having been raised, the prices ... - Ilicas Toro sik miHu 0yJi0

ITABUIIICHO, BOHU ...

Oco00JIMBOIO TPAMATUYHOIO KOHCTPYKIIIEIO B aHTJIHACHKOT MOBI €
HE3aJICKHUN  JIeENpUKMETHUKOBUM 3BOpoT (Absolute Participle
Construction), TOOTO KOHCTPYKIIi 3 JIEMNPUKMETHUKOM, SIKI MICTATH
CBI BJIACHMI (HE3aJEeKHUN) MIAMET, BUPAKEHUH IMEHHHKOM Y
3arajibHOMY BIJIMIHKY Yd 3aiMEHHUKOM Y HOMIHATUBHOMY BIJIMIHKY.



[Tepexnan HE3aJIEKHOr0 TIEMMPUKMETHUKOBOTO  3BOPOTY
3QJICKUTh Bl MO0 MICIS CTOCOBHO TOJIOBHOTO peYeHHs. SIKIO BiH
CTOITh TIepe]] HUM, TO BIH MEPEKIAMAETHCS MIAPSATHAM O0OCTaBUHHUM
PEUYCHHSIM, SIKE BBOJUTHCS CIIOTYYHHKAMHU: OCKUIbKH, SIKIIO, KOJIH,
micJisl TOro, AK Ta 1HIITNMH.

The article being ready, I shall bring it to you.
Kouu crarTs OyJie roToBa, s mpuHecy ii ToOl.

The weather permitting, we shall start tomorrow.
k1110 oroaa A03BOJNTh, MU BiINPABUMOCH 3aBTPaA.

Axmo aienpukmeTHuk BupaxkeHo dopmoro Perfect Participle, e
CBIIUUTh, IO [is JIENPUKMETHUKOBOTO 3BOPOTY TMepeaye ii
JleCIIOBa-MIPUCY/IKA.

With the letter having been finished, I went to the post-office.
ITicns Toro, sik mucTa OyJi0 3aKiHYEHO, sI BUPYILIUB Ha MOIITY.

AKIO HE3ISKHUN TIENPUKMETHUKOBUN 3BOPOT CTOITh MICHSA
TFOJIOBHOIO  PEUYEHHs, BIH  TMEPEKIQJa€TbCcs  SK  4YacTUHA
CKJIQJIHOCYPSITHOTO PEUYCHHS 3 CYPSIHUMU CIIOJYYHUKAMU: IPUIOMY,
a, i, mpore.

We use various types of computers, the most powerful being applied
in space technologies.

Mu BHUKOPHUCTOBYEMO Pi3HI TUIH KOMIT IOTEPIB, IPUIOMY
HaWIOTY>KHIII1 3aCTOCOBYIOTHCS B KOCMIYHUX T€XHOJOTISX.

IV CKIIAAHOIIAPAAHE PEUEHHA.
(BE3CITOJIYUHUKOBE IIAPAJUKEHHS).

[TigzmeToBE Who can do it is not known.

1JIPSITHE

[Ipucynkose The question is if he will come.

IT1JIPSITHE

JlomaTkoBe He said (that) he had done it.

MiApsITHE

O3HavanpHe Here is the book (which)\ that) we have spoken
MIApSIIHE about.




OOcTaBuHHE
P THE

She will do it when she returns.

The plant grows where the others couldn’t.
Yacy As it was raining, we stayed at home.

She must hurry lest she (should) be late.
Micust I shall do this work if I have time.

Though he was very young, he was a good
[Tpuunau worker.
Metn
YMOBHE
ITocTynku

1 Criony4yHUKOBE CJIOBO that B CIIOJIyYHHUKOBUX PEUYEHHSX YaCTO
BUITyCKaeTbes. Hanpukian:

Everybody knows (that) with modern high-speed computers it is
possible to control a train.

2 OsHavanbHl MAPSAHI PEUEHHS 4YacTO MPUETHYIOTHCA JO
TOJIOBHOTO, 32 SIKUM BOHH CJIIIYIOTh, 0€3 JOTIOMOTH CIIOJIyYHHUKA.

The problem the scientists are speaking about is connected with new
discoveries in the field of electronics.

3 Crnony4dHHK if MOX€ BHIIYCKATHCS B TOMY BHMOAJKY, SIKIIO B
HIIPSATHOMY PEYCHHI I BUPAKEHHS YMOBHOCTI BIXKHBAIOTHCS
niecioBa were, should, had, sx1 y 1boMy BUIIQJKY 3aliMalOTh MEpIIe
Mmicre. Hampuxmnan:

Had the material been tested by the engineers, it could have been used
in the construction.

V I'PYITA OBHAYEHb (ATTRIBUTIVE GROUP)

Y  GyHKII  03HaYEHHA  MOXKJMBE  BUKOPUCTaHHA  fIK
MPUKMETHUKIB, TaK 1 IMEHHUKIB. KiIlOUOBMM TMO3HAYEHUM CJIIOBOM B
Tak1i HU3I[ IMEHHUKIB € OCTaHHINA IMEHHUK.



ApTUKIIB IMennuK y poi [To3HaueHuil iIMEHHUK
O3HAYEHHS

The Land transport

The land transport improvement

The land transport problem
improvement

Life test — BumpoOyBaHHS Ha CTPOK ITpallii;

Labour cost — BuTpaTv Ha poOOUy CUITY;

Safety standard — ctanapT, sSIKUii BCTAHOBJIIOE MTpaBUJia TEXHIKH

Oe3IIeKH;

College science Improvement Program — nporpaMa BIOCKOHAJICHHSI
HayKkoBoi poboTu B konemxax (CLLIA);

Emergency snow clearing — TepMiHOBa PO3YHCTKA CHITOBUX 3aMETIB;

Rail transport movement table — rpadik pyxy 3a1i3HIYHOTO TPAHCIIOPTY.

3pa301< 6UKOHAHHA

J1o BripaBm 1

BukoHaHHs mepiioro 3aBAaHHsS BUMAarae axkTyasi3alii BCIX
HAaKOMMYEHUX CTYJEHTAaMHU 3HaHb IOJO0 aHTJIIHCHKOrO JIECIOBa.
CTylleHT TMOBMHEH BH3HAYUTU Yac Ta CTaH JIIECIOBA, MEPEKIacTH
pPEYEHHS P1IHOI0 MOBOIO, O€pyuYd JI0 yBaru OCOOJMBOCTI MEpeKiaamy
JIECITIB y TACUBHOMY CTaHI.

Present Perfect Passive
The main question has already been discussed.
["oyi0OBHE MUTaHHS BKE 0OTOBOPEHE.

Indefinite Passive
His scientific work is much spoken about.
[Ipo ioro HaykoBy po0OOTy OaraTo roBOpsTh.

o Brpas II Ta 111

Labour cost — BTpatu Ha po00OYy CHITY;

Summer holidays — niTH1 KaHIKYyJH;

Oil output — Bun00yBaHHs HaPTH;

Railway station telephone operator — TeneoHICT 3aI3HUYHOI CTAHIIII.
10



It is necessary to use the latest means of control in industry.
Heo0xiiHO BUKOPUCTOBYBAaTU y IMPOMUCIOBOCTI HAWHOBIIII 3acO0U
yIpaBIIHHS.

You will have to change this design.

Bam noBeneTbCst SMIHUTH 11ei TTPOEKT.

You will have to change this design.

BaMm J1oBesieThCsl 3SMIHUTHU 1EH MPOECKT.

o BripaBu 4

[Ipy BUKOHAHHI 4YETBEPTOi BIPABU CTYJICHT TOBHUHEH
MEpPEeKJIaCTU PEUYCHHS PIHOIO MOBOK. Y PEYCHHSIX HEOOX1AHO
M1JIKPECITUTH MOJIaJIbHI JTIECIIOBA.

One should agree that that experiment was of great importance for
our research.

Tpeba 3roguTHCch, MO TOW EKCIIEPUMEHT MaB BEJIMKE 3HAYCHHS IS
HAILIOTO JIOCIIIKECHHS.

J1o Bopasu 5

[Ipyn BUKOHAHHI T’SITOI BNpPaBU CTYJEHT MOBUHEH NEPEKIACTU
pEUYCHHS PITHOI0 MOBOIO, OEpydYd 110 yBaru OCOOJMBOCTI TepeKiIamy
TIENPUKMETHUKOBUX KOHCTPYKIIIH.

Being imposed by the government, ceiling prices ... - Ta sxkio
MaKCUMaJIbHI [IHU BCTAHOBIIOIOTHCS YPSAIOM, BOHH ...
Having lowered the process, the firm ... - 3HWKy0uH 1iHHU, dipMa ...

J1o BpaBu 6

What is the name of the book you are reading?

Sxa Ha3Ba KHUTH, SIKY TH YUTAEIT?

Had I had time yesterday, I should have finished the translation of this
article.

AxOu y MmeHe BUOpa OyB yac, 51 0 3aKiHUMB MepeKIa 1€l cTari.

11



BAPIAHT 1

1 IlepenumiiTe pedyeHHs, Ha3BiTh Y KOXXHOMY 3 HHX BHIO-
yacoBy (popMy Ta CTaH Ji€cioBa — npucyiaka. [lepekianite pedyeHHs
P1HOIO MOBOIO.

1 The economist is interested in factors affecting the allocation of
resources for producing particular goods.

2 The work will be performed in due time.

The introduction of electric traction on railways was spoken of at

the end of the 19" century.

4 New metro lines are being built in different parts of the city.

()

11 IlepenuuiiTe CIOBOCIOMYYEHHSI Ta MEPEKIAIITh iX PIAHOIO
MOBOIO, 3BEpPTalOUM yBary Ha BXXHBAaHHA IMEHHUKIB y (QYHKIII
O3HAYEHHS.

Government activity, plan production, grain markets, command
economy, land resources, government restrictions, government
planning office, the London underground extension project, member
countries.

1 IlepenumiiTh peyeHHS Ta MEPEKIAIITh iX PITHOIO MOBOIO,
3BEpTaOYM yBary Ha pi3Hi 3HaueHHs AieciiB to be, to have, to do.

1 In some countries the new tracks have been laid for a maximum
speed of 250 km/h.

2 The market 1s to decide how much to produce.

3 Economy does not usually rely entirely on planning.

v IlepenuiiTh pedyeHHs Ta MEPEKIaAITh iX PIAHOK MOBOIO,
3BEpPTalOYM yBary Ha MoJalibHI miecioBa. I[ligkpecmiTs MopanabHI
JECIIOBA.

1 One should know that present-day economists, unlike economists
of the 19™ century, include land in capital.

2 The goods needn’t have been sent by railway.

3 He ought to take a more active part in decision making on the

export strategy of the company.
12



4 We will help him.
5 He tried to persuade me, but I wouldn’t listen to him.

V IlepexknaaiTh pigHOIO MOBOK HACTYMHI JIENPUKMETHUKOBI
3BOPOTH 31 CKIQAHUMHU (pOpMaMH 11€ENPUKMETHHUKA.

Having imposed a high level of taxes, the government ...

Being used in this way, money ...

Having been raised, the prices ...

The Central Bank acting as banker to commercial banks, the
financial system works steadily.

5 Free market is a market that is free from government intervention,
prices rising and falling according to supply and demand.

AW =

vi  IlepenuiuiTh pedeHHs Ta MEPEKIAITh iX PIAHOK MOBOIO,
3BEpPTAOUU YBary Ha 0€3CMoJIyYHUKOBE MiAPSIKESHHS.

1 The European economy of the 2020s will be very different from
that of the Europe we have known for the last decades.

2 The passenger would travel with greater comfort had the passenger
cars been fitted with the air-conditioning units.

3 The newspaper wrote the new railway would carry mainly timber
and mineral traffic.

VII Tlpouuraiite TekcT Ta nepenuinith ioro. Ilepeknamith
TEKCT PIAHOI0 MOBOI, TNEpeKyaj] 3anumliTe. JlaliTe NUCHLMOBY
BIJIITOB1b Ha 3aIIUTAaHHA.

Factors of Production: Capital and Labour

Factors of production are resources used by firms as inputs for a
good or service to be produced. Factors of production are as follows:
capital, labour and natural resources.

In economic theory, the term “capital” refers to good and money
used to produce more goods and money. Classifications of capital
vary with the purpose of the classification. The most general
distinction is the one made between physical, financial, and human
capital.
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Physical capital is land, buildings, equipment, raw materials;
bonds, stocks, available bank balances are included in the financial
capital. They both make a great contribution to production.

To group capital into fixed capital and circulating capital is
common practice. The former refers to means of production such as
land, buildings, machinery and various equipments. They are durable,
that is, they participate in the production process over several years.
Circulating capital includes both non-renewable goods, such as raw
materials and fuel, and the funds required to pay wages and other
claims against the enterprise. Non-renewable goods are used up in one
production cycle and their value i1s fully transferred to the final
product.

Human capital is knowledge that contributes “know-how” to
production. It is increased by research and disseminated through
education. Investment in human capital results in new, technically
improved, products and production processes which improve
economic efficiency. Like physical capital, human capital is important
enough to be an indicator of economic development of a nation.

It is common, in economics, to understand labour as an effort
needed to satisfy human needs. It is one of the three leading elements
of production. Labour has a variety of functions: production of raw
materials, manufacturing of final products, transferring things from
one place to another, management of production, and services like the
ones rendered by physicians and teachers.

One can classify labour into productive and unproductive. The
former produces physical objects having utility. The latter is useful
but does not produce material wealth. Labour of the musician is an
example.

1) What are the factors of production?

2) What does fixed capital refer to?

3) What does investment in human capital result in?

4) What does circulating capital include?

5) What capitals are important indicators of economic development of
a nation?

14



VIII Cknanith pedeHHs 3 JABOX YAaCTHH, SKI MIAXOASATH 3a
3mictoMm. [lepexnaaiTe peueHHs.

1 It is required that all goods a) raw materials and fuel.
and services b) includes all people within
2 Means of production are the nation who are available
3 The national labour force for work, that 1s, the
4 Capital includes such non- working people.
renewable goods as c¢) produced must be bought.
5 Infrastructure equipment d) the same as factors of
production.

e) (roads, bridges,
telecommunications) is
often publicly owned and
operated.

BAPIAHT 2

1 IlepenumiiTe pedeHHs, HA3BITh y KOXHOMY 3 HHUX BHUJIO-
gacoBy (opMy Ta CcTaH jiecioBa — mpucyaka. I[lepexnaaite pedeHHs
P1IHOIO MOBOIO.

1 The economic development of a country is affected by the progress
in rail transport.

2 Resources allocation decisions are being made every day in every

city, mostly through the mechanisms of markets and prices.

Time will be served if one uses a computer.

4 A large variety of goods were supplied by the company.

(U]

11 IlepenuuriTe CIIOBOCHOMYYEHHSI Ta MEPEKIAITh iX PIAHOIO
MOBOIO, 3BEpPTalOUM YBary Ha BXHBaHHA IMEHHHUKIB Yy (QYHKII
O3HAYEHHS.

Budget deficit, government regulation, market prices, computer-based
operation, railway transport development, market mechanisms,
information control systems, government intervention, consumer
goods.
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1 IlepenumniTe peyeHHs Ta MEPEKIANITh X PIAHOK MOBOIO,

3BEpTalO4M yBary Ha pi3Hi 3HaueHHs aieciiB to be, to have, to do.

1

(OS]

The attention of the railway authorities in all countries has to be
focused on the development of high-speed railway traffic both in
passenger and freight service.

The horse-powered railways did not last long.

The construction of the Kharkiv Metro is not completed, it is still
going on.

v IlepenumiiTh peyeHHS Ta MEPEKIAIITh iX PITHOIO MOBOIO,

3BEpPTAlOYM YyBary Ha MoJajibHI maiecioBa. IligkpeciiTe MopaibHI
T€CIIOBA.

1

N B~ W

Making a decision, the economist should rely on all the information
that he can find.

You needn’t hurry.

Would you mind passing me the book.

I will call on you tomorrow.

The company ought to improve the packaging of its goods or it may
lose part of its customers.

v IlepexnamiTe piIHOIO MOBOIO HACTYMHI JIE€NPUKMETHUKOBI

3BOPOTH 31 CKJIQAHUMU (POpMaMH J11€ENPUKMETHHUKA.

Dhn B~ W N =

Having examined the labour market, the company ...

Being used as a medium of exchange, money ...

Having been formed, the government ...

The price level rising, the value of money decreases.

Various companies offer their goods at different prices in a
particular market, the increase in a supplied quantity resulting in
the market price decrease.

vi IlepenuiniTe pedyeHHsS Ta MEPEKIAIITh iX PITHOI MOBOIO,

3BEPTAOYM yBary Ha 0€3CIOJIyYHUKOBE MiAPSIKEHHS.

1

A consumer is a person who consumes the products and services he
buys.
16



2 Had they applied new methods in the production process, the
results would have been much greater.

3 Most specialists believe the trains of future should be operated by
automatic drivers.

VII Ilpouwuraiite TekcT Ta mnepenuinith ioro. Ilepeknamith
TEKCT PIJHOK MOBOK, Mepekiaj] 3amnuiliTh. JlaliTe MNUCbMOBY
BIJIITOB1b Ha 3aIIUTaHHA.

Circular Flow of Payments and National Income

To have a glimpse in the working of the economy as a whole
may be of use to a student of economics.

In every economy there are lots of holds to supply labour and
capital to firms that use them to produce goods and services. Firms
provide incomes for households, who in turn use this money to
purchase the goods and services produced by firms. This process is
called the circular flow of payments.

The gross domestic product (GDP) is the total money value of all
final goods produced in the domestic economy over a one-year period.
The GDP can be measured in three ways: a) the sum of the value
added in the production within a year, b) the sum of incomes received
from producing the year’s output, ¢) the sum to spend on the year’s
domestic output of goods and services.

The total money value of all final goods and services in an
economy over a one-year period, that is the GDP, plus property
income from abroad (interest, rent, dividends and profits) make the
gross national product (GNP). The GNP is an important measure of a
country’s economic well-being, while the GNP per head provides a
measure of the average standard of living of the country’s people.
However, this 1s only an average measure of what people get. The
goods and services available to particular individuals depend on the
income distribution within the economy.

We now recognize that assets wear out in the production process
either physically or become obsolete. This process is known as
depreciation. There has to be part of the economy’s gross output to
replace existing capital, and this part of gross output is not avialable
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for consumption, investment, government spending, or exports. So we
subtract depreciation from the GNP to arrive at national income.
National income measures the amount of money the economy
has available for spending on goods and services after setting aside
enough money to replace resources used up in the production process.
Since output is determined by demand, the aggregate demand or
spending plans of households and firms determine the level of the

output produced, which in turn makes up the income available to
households.

1) What process is known as the circular flow of payments?
2) What is the gross domestic product?
3) What is the gross national product?

4) What does the GNP indicate?
5) How is national income determined?

VIII Cknanith pedeHHs 3 JABOX YAaCTHH, SKI MIAXOASATh 3a
3mictoMm. [lepexnaaiTe peueHHs.

1) The GDP is the basic a) to provide conditions under
measure which nationalized industries
2) In most countries higher could not be run directly by
living standards of the ministers, but through boards
typical man rather than of directors which a
3) Import is a good which is considerable measure of
produced abroad managerial independence.
4) One must person’s spending | b) someone else’s income.
must be c) to make up the gross national
5) The industries were first product.
nationalized in Britain, many | d) their international image are
of them after the Second of prime importnace.
World War, the ¢) and which is then transported
governments’ aim was to and sold in the home
market.
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BAPIAHT 3

1 IlepenumiiTe pedyeHHs, Ha3BiTh Y KOXXHOMY 3 HHX BHIO-
yacoBy (popMy Ta CTaH Ji€cioBa — npucyiaka. [lepekianite pedyeHHs
P1HOIO MOBOIO.

1 The ideas of Adam Smith, the famous Scottish philosopher and
economist, have been studied by economists for over two hundred
years.

2 This article 1s usually referred to while discussing the problem of
computer-controlled railways.

3 For the next twenty years the supply of energy will be limited in
some sectors of the US economy.

4 The whole industry was affected by the Government’s decision to
restrict imports.

11 IlepenuuiiTe CIOBOCIOMYYEHHSI Ta MEPEKJIAiTh iX PIAHOIO
MOBOIO, 3BEpTalOUM yBary Ha BXXMBAaHHS IMEHHUKIB y (QYyHKIII
O3HAYEHHS.

Market economy, price regulation, resources allocation decisions,
passenger car characteristics improvement, underground railway
network, train control, railway development, test track construction
plan, government activity.

m  IlepenumiiTh peyeHHS Ta MEPEKIAIITh iX PITHOIO MOBOIO,
3BEpTAOYM yBary Ha pi3Hi 3HaueHHs AieciiB to be, to have, to do.

1 The British Rail Authorities have come to the conclusion that more
railways should be electrified in all parts of the country.

2 We didn’t know anything about the decision.

A great increase in the supply of money in the form of bank notes

and bank credit is to result in inflation, that is, a rise in the general

level of prices.

(OS]
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v IlepenuiiTh pedyeHHs Ta MEPEKIaAITh iX PIAHOW MOBOIO,

3BEpTAlOYM yBary Ha MoOJalibHI JiecioBa. I[ligkpeciiTe MoaalbHI
JECIIOBA.

1
2
3
4
5

They should cut down costs.

The equipment ought to have been replaced long ago.
I will go there with pleasure.

Would you tell me the time, please?

Need he come here?

v IlepexnamiTe piIHOIO MOBOIO HACTYMHI JIE€NPUKMETHUKOBI

3BOPOTH 31 CKJIAAHUMU (POpMaMH J11€ENPUKMETHHUKA.

AW —

Having settled the debts, the banks ...

Being issued by the government, bonds ...

Having been interviewed, the prime Minister ...

Cheques being accepted in payment of purchases, people feel that a
bank account is as good as or even better than money in their
pocket.

Natural resources are one of the three factors of production, the
other two being labour and capital.

vi [lepenumiiTh peyeHHA Ta MEPEKIAIITh iX PITHOIO MOBOIO,

3BEPTaIOYM yBary Ha O€3CIOJIyYHUKOBE MiAPSIKEHHS.

1

2

The amount of output firms want to offer depends on costs and
revenues.

The Japanese delegates say further research is to be aimed at
developing new high-speed systems.

Had the material been tested by engineers, it could have been used
in the construction.

VII IlpouunraiiTe TEKCT Ta mepenuiiiTh Horo. [lepeknanite TeKCT

PITHOIO MOBOIO, MEPEKJaj 3amuiliTh. JlaliTe THChMOBY BIANOBIIb Ha
HACTYITHI 3alTUTaHHSI.
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Taxes and Public Spending

In most economies government revenues come mainly from
direct taxes on personal incomes and company profits as well indirect
taxes levied on purchase of goods and services such as value added
tax (VAT) and sales tax. Since state provision of retirement is
included in gevernment expenditure, pension contributions to state-run
social security funds are included in revenue, too. Some small
component of government spending is financed through government
borrowing.

Government spending comprises spending on goods and services
and transfer payments.

Governments mostly pay for public goods, that is, those goods
that, even if they are consumed by one person, can still be consumed
by other people. Clean air, national defence, health service are
examples of public goods. Governments also provide such services as
police, fire-fighting and the administration of justice.

A transfer is a payment, usually by the government, for which no
corresponding service is provided in return. Examples are social
security, retirement pensions, unemployment benefits and, in some
countries, food stamps.

In most countries there are compaigns for cutting government
spending. The reason for it is that high levels of government spending
are believed to exhaust resources that can be used productively in the
private sector. Lower incentives to work are also believed to result
from social security payments and unemployment benefits.

Whereas spending on goods are services directly exhausts
resources that can be used elsewhere, transfer payment do not reduce
society’s resources. They transfer purchasing power from one group
of consumers, those paying taxes, to another group of consumers,
those receiving transfer payment and subside.

Another reason for reducing government spending is to make
room for tax cuts.

Government intervention manifest itself intax policy which is
different in different countries. In the United Kingdom the governent
takes nearly 40 per cent of national income in taxes. Some governents
take a larger share, others a smaller share.
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The most widely used progressive tax structure is the one in
which the average tax rate rises with a person’s income level. As a
result of progressive tax and transfer system most is taken from the
rich and most 1s given to the poor.

1) How is government spending financed?

2) What do governent pay for?

3) What are the three reasons for cutting governent spending?
4) Which share of national income comes from taxes?

5) What are the characteristics of the progressive tax structure?

VIII CknamiTh pedeHHS 3 JBOX YaCTHH, SKI MIAXOIATH 3a
3mictoMm. [lepexnaaiTe peueHHs.

1) Whereas a sales tax is raised
only when a final good is
sold to the consumer,

2) Social security payments and
unemployment benefits are

3) Every firm in Russia is
require to allocate two
percent of the amount to be
paid out as wages

4) A state retirement pension in
most European countries is

a) payable to women at
the age of 60 and men
at the age of 65.

b) as its contribution to
the Fund of Obligatory
Medical Insurence.

c¢) the sum of government
purchases of goods
and transfer payments.

d) the VAT is raised at
different stages of the
production process.

¢) believed to reduce
incentives to worn
since they contribute
to income.
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BAPIAHT 4

I [epenmumiTh pedeHHs, HA3BITh Y KOXKHOMY 3 HUX BH0-4aCOBY
dbopmy Ta cTtaH giecioBa — npucyjka. [lepeknaiTe pedeHHs! PIIHOIO
MOBOIO.

1 The quantity demanded is influenced by changes in consumers'
incomes.

2 The buyers were informed that the contract expired in August.

3 The tariffs will be reduced twice within a period of two years by 12
and 15 per cent respectively.

[ TlepenuimiTh CIOBOCIONYYEHHS Ta MEPEKIAIITh iX PITHOIO
MOBOIO, 3BEpTalOUM yBary Ha BXKHMBAaHHS IMEHHUKIB Yy (QYyHKIII
O3HAYCHHS.

World market, market relations, population growth, telephone
company, government activity, resources allocation decisions,
production and consumption decisions, farm produce price increase,
government offices.

III ITepenumiiTh pedyeHHs Ta MEPEKIaAiTh iX PITHOK MOBOIO,
3BEpTalOYM yBary Ha pi3Hi 3HaueHHs aieciiB to be, to have, to do.

1 The economist was to foresee the market price rise.

2 The company has developed a new model of equipment.

3 In what way does a free market economy differ from a command
economy?

IV IlepenumiiTh pedeHHs Ta MEPEKIAIITh IX PITHOK MOBOIO,
3BEpPTAIOUYM YBary Ha MoJalibH1 miecioBa. [ligkpecniTe MopanbHI
TECIIOBA.

1 Government regulations should be in the interests of society.

2 Developing his strategy a retailer ought to choose the most
convenient location for his store.

3 We will do it.

4 You needn’t go there.

5 Would you give me the book, please?
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V Ilepexnaqaith piIHOI0O MOBOI HACTYIHI JIIENPUKMETHUKOBI
3BOPOTH 31 CKIQAHUMU (pOpMaMH 11€ENMPUKMETHHUKA.

1 Having examined the labour market, the company ...

2 Being issued by the government, bonds ...

3 Having been interviewed, the Prime Minister ...

4 The country’s population being little more than two million and
purchasing power low, the market is limited.

5 The steamer could not enter the dock, its length exceeding 120 meters.

VI IlepenuiiiTh peyeHHs Ta MEPEKIAAITh iX PIIHOIO MOBOIO,
3BEpTAOUU YBary Ha 0€3CIOoJIyYHHUKOBE IMiAPSKESHHS.

1 A consumer is a person who consumes the products and services he
buys.

2 Had they applied new methods in the production process, the results
would have been much greater.

3 I know he bought a dictionary yesterday.

VII [Ipouuraiite TEKCT Ta mepenuuIiTeh oro. [lepexnagiTe TEKCT
PITHOIO MOBOIO, MEPEKJaj 3anuiliTh. JlaliTe THChbMOBY BIANOBIIb Ha
3allUTaHHS.

Theory of Supply

The theory of supply is the theory of how much output firms
choose to produce. The principal assumption of the supply theory is
that the producer will maintain the level of output at which he
maximizes his profit.

Profit can be defined in terms of revenue and costs. Revenue is
what the firm earns by selling goods or services in a given period such
as a year. Costs are the expenses which are necessary for producing
and selling goods or services during the period. Profit is the revenue
from selling the output minus the costs of inputs used.

Costs should include opportunity costs of all resources used in
production. Opportunity cost of a commodity is the amount an input
can obtain in its best alternative use (best use elsewhere). In particular,
costs include the owner’s time and effort in running a business. Costs
also include the opportunity cost of financial capital used in the firm.
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Aiming to get higher profits, firms obtain each output level as
cheaply as possible. Firms choose the optimal output level to receive
the highest profits. This decision can be described in terms of
marginal cost and marginal revenue.

Marginal cost is the increase in total cost when one additional
unit of output is produced.

Marginal revenue is the corresponding change in total revenue
from selling one more unit of output.

As the individual firm has to be a price-taker, each firm’s
marginal revenue is the prevailing market price. Profits are the highest
at the output level at which marginal cost is equal to marginal
revenue, that is, to the market price of the output. If profits are
negative at this output level, the firm should close down.

An increase in marginal cost reduces output. A rise in marginal
revenue increases output. The optimal quantity also depends on the
output prices as well as on the mput costs. Of course, the optimal
supply quantity is affected by such noneconomic factors as
technology, environment, etc.

1) What is the principal assumption of the supply theory?
2) What is the difference between profit and revenue?

3) What is included in cost of production?

4) How do firms get maximum profits?

5) When should firms close down?

VIII CknamiTh pedeHHS 3 JBOX YaCTHH, SKI MAXOIATH 3a
3mictoMm. [lepexnaaiTe peueHHs.

1)Market demand is a)revenues minus costs
2)An improvement of technology | b) paid out as dividends.

is a change that c) the equilibrium price will
3)Profits are remain unchanged.

4)As long as the total demand and | d)makes it possible for firms to
the total supply of the commodity | produce more goods amount of

remain equal resources as before.

5)Part of a company’s profits is ¢) the total demand from all
put back into the business rather consumers.

than
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BAPIAHT 5

I [lepenuimiTh pedeHHs, HA3BITh Y KO)KHOMY 3 HUX BHJ0-YaCOBY
dbopmy Ta cTtaH giecioBa — npucyjka. [lepeknaiTe pedeHHs! PIIHOIO
MOBOIO.

1 The two-way trade between the countries has been expanded.

2 The period for which the money is borrowed is long.

3 Many differences can be observed in the accounting practices of
different countries.

4 The experiment was being made for six hours.

II TlepenuiniTh CIOBOCIONYYEHHS Ta MEPEKIAIITh iX PITHOIO
MOBOIO, 3BEpPTalOUM yBary Ha BXXHBAaHHA IMEHHUKIB y (QYHKIII
O3HAYEHHS.

Railway transport development program, world trade, distribution
process, consumer goods, trade relations, command economy, oil
price restriction, economics study, demand information.

[II TlepenumiiTe HACTYIHI PEYEHHS Ta MEPEKIAAITh iX PIAHOIO
MOBOIO, 3BE€pPTAlOUM yBary Ha pi3HI 3HauCHHs JleciiB to be, to have,
to do.

1 The price is to increase by 7 per cent.
2 The prices for oil have risen recently.
3 Modern metro trains have no locomotives, they consist of cars.

IV IlepenuuniTe pedyeHHs Ta MEPEKIAaITh iX PITHOIO MOBOIO,
3BEpPTAlOYM YyBary Ha MoJalibHI miecioBa. IligkpeciiTe MopaibHI
T€CIIOBA.

1 The company representative would not listen to the demands of the
workers.

2 The goods that ought to be produced are in great demand.

3 You needn’t come so early.
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4 Economists should clearly understand the difference between the

economic growth and economic development of the country.
5 We will help him.

V TlepeknamiTh pigHOIO MOBOIO HACTYIHI JIE€MNPUKMETHUKOBI
3BOPOTH 31 CKJIQAHUMU (POpMaMH J11€ENPUKMETHHUKA.

1 Having set the high discount rate, the Central Bank ...

2 Being responsible for the government’s debts, the Central Bank ...

3 Having been adopted late in the year, the fiscal plan ...

4 Natural resources are one of the three factors of production, the
other two being labour and capital.

5 Free market is a market that 1s free from government intervention,
prices rising and falling according to supply and demand.

VI Ilepenuiiith pedyeHHs Ta MNEPEKIIAITh 1X PIAHOIO MOBOIO,
3BEPTalO4M yBary Ha 0€3CIOJIyYHUKOBE BIJIPSKEHHS

1 Tknow he has returned.

2 The amount of output firms want to offer depends on costs and
revenues.

3 Had they used double entry book-keeping system, they would have
easily found the error in balances.

VII IlpouunraiiTe TEKCT Ta mepenuiiiTh Horo. [lepeknanite TeKCT
PITHOIO MOBOIO, MEPEKJaj 3amuiliTh. JlaliTe THChMOBY BIANOBIIb Ha
3alATaHHs.

Accounting Information

Accounting provides informational access to a company’s
financial condition for three broad interest groups. First, it gives the
company’s management the information to evaluate financial
performance over a previous period of time, and to make decisions
regarding the future. Second, it informs the general public, and in
particular those who are interested in buying its stock, about the
financial position of the company. Third, accounting provides reports

for the tax and regulatory departments of the government. In general,
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accounting information can be classified into two main categories:
financial accounting (or public information) and management
accounting (or private information).

Managerial accounting deals with cost and profit relationships,

efficiency and productivity, planning and control, pricing decisions,
capital budgeting, etc. not being generally spread outside the
company, this information provides a wide variety of specialized
reports for division managers, department heads, project directors.
A standard set financial statements is expected to be prepared
regularly by financial accounting and published in an annual report at
the end of the fiscal year. Being prepared in accordance with generally
accepted accounting principles, these statements include the following
items: 1) the balance sheet, 2) the statement of cash flows, 3) the
income statement, 4) the statement of retained earnings.

Information relating to the financial position of a company,
mainly about assets and liabilities, is presented in a balance sheet. The
statement of cash flows shows the changes in the company’s financial
position and provides information which is not available in either an
Income statement or a balance sheet. Thus, the statement of cash flows
represents the sources and the uses of the company’s funds for
operating activities, applications of working capital and data about
additional support. Provided the company couldn’t generate sufficient
cash to finance its activities, it would be necessary to borrow money
and it should be indicated in the statement.

Another financial statement disclosing the results of the
company’s activity is known as the income and expense statement.
Prepared for a defined time interval, this statement summarizes the
company’s revenues, expenses, gains and losses and shows whether a
company has made a profit within the period.

1) Who is interested in accounting information?

2) What are the main differences between financial and managerial
accounting?

3) What financial statements are included in an annual report and
when are they published?

4) Why is it important to prepare the statement of a company’s cash
flows?

5) What kind of information is represented in the income statement?
28



VIII Cknanith pedyeHHS 3 JIBOX YAaCTHH, SKI MIJAXOJATh 3a

3mictoMm. [lepexnaaiTe peueHHs.

1 A balance sheet represents

2 The statement of cash flows
provides the information

3 The income statement
summarizes the data

4 Financial accounting includes
the information

5 Managerial accounting deals
with

a ) the main accounting equation
b) planning, control, budgeting
and pricing decisions.

c) relating to the profitability of
the company and its financial
position.

d) about a company’s revenues,
expenses, gains and losses.
e)about the changes in the
financial structure of the
company.
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